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SECONDARY SCHOOL EXAMINATION - 2018 (ANNUAL)
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Total No. of Questions: 61 Tota! m‘gm Pages: 16
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TR 2 3 Pder-
Instructions for the eandidates:

L 9deme yon sz ama et B B g ¥
cm”“"'&v*«ﬂomuhwwmmvmom words as lar as peactcable

2 TR v @da 1 EC 3T yuts [Mdnr wvd &1
Figures in ine rght hand margin indicate il marks.

3 v 3 T Tl DuTENE mas— a3 o e T2
Whife answer.ng 1o questons, candidate showsd adhere to the word kma as far as pracheabie.

4 FT T 0V 2Pzl gat BN 15 Me BT IR wra R v &1
15 Minutes ¢l exira tme has been akofted for the candidates 10 tead the quesdons careluly.

S5 WUM-N3cITTIRE NI -H TG~/

This question paper (s dwied into two sections - Section - A and Section - B.

6. TW-F 740 IR0 pyy & Wl pey widar) &1 (s ¥ 130 1 7w Peie &) T
TV ST Fd v oMR - e A 22 1) al) gu 3 @1 /NS A d7 B R ) Bl
R vER # FrETA /N TRl I/ TG SN T IR AT ¥ wabw wew v &
R T IR IR BT
In Section - A, th.ere are 40 objective type questions which are computsory, each carrying 1 mark,
Darken the o cie with blue biack ball pon agamst the corcect oplon on OMR Sheel provided 10 you.
Do not use Whitener Liquid 'Biado'Nali on OMR Paper; otherwise the result will be Invaiid.

7. Uy — & ® 23T & wivlr g 3 Ry 7 Iy onw w1 593w 3w avs
¥ 3 O anfte grr B3 72 ¢ vedw wed B R0 Rew serm @ wg) & vw s 5v
fear nar #
in Section - B. there are short pnswer type questions of 3 subjects under Sclence. Apart from
this. there ace 3 Long Answer Type questions. Each question has an alternate option.
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wvs — 3/ SECTION - ‘
g¥ / Objective Ty stions)

Franfamy aftacdn aet 4 3 = faoee ) (eax1=40)
Select the correct alternative out of following multi choice questians,

L T oo @ et g ) genaR @ XA F A FEE § —
(A) Y& wga (B) @@ Fysm
(C) wm s (D) M TN @1 gRE
: 5

The diameter of a circular outline of the reflecting surface of spherical mirvor iy
called -

(A) Principal focus (B) Radius of curvature
(C) Principul axis (D) Apenure
2. Frfafag & 3 a1 3aa odo @ PFF g0 ¢ BmA T Bwn 32cm £2
(A) + %m : (B) - 8&m
SO+ 16cem D)~ l6em .

Which one of the following is focal length of the convex mirrar whose radius of
curvature is 32em?

(A) +¥em (B) -8cm
(C) +16cm (D) -16¢m
3. =X freh fha @ o= &1 Aeda wuners & @ o8 safig @) uyly Fm AA?

JA) Frafas sk e (B) awfRe sk drn < |

(C) amud afte (D) ¥nmA &R I

What will be the nature of the image of an object. if magnilication of the image is
ncgative?

(A) Real and inverned (B) Real and erect

(C) Vinual and erect (D) Virtwal and inverted
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 AA) TR Im gu'R (B) PR3 B Yaope @
O it @ aed ges oy (D) T A ¢ &
Most of the refraction for the light rayx entering the eye occurs at -
(A) Interface of aqueous humour

(B) Interface of cye lens
(C) Outer wrfuce of comes

(D) none of these

Wﬂ*mmmgﬁzuﬂw«nﬁ,dm*?ﬁmmwtmﬁm
T A w2

(A) T«

B) =R
€) =

(D) Han
When sunlight passes through the atmosphere, which colour of light gets scattered
strongly by the fine particles in air? B
(A) Red

(B) Orange
(C) Green (D) Bluc
6. ¥Ra 8 Janfa wearad) Ry av ) smghy @ -
(A) S0Hz (B) 60 Hz
JO) T0Hz (D) 801z
In India. the frequency of produced altemating current is -
(A) 50H:z (3) 60Hz
(©) 701z (D) ROH-

p A ﬁf«hﬁmm'km«ovmwtmzommm&mwﬁRMm
o 5T (Least count) & -

(A) 0.5V [(B) 005V
(C) 0.005V M 00005V

There are 20 divisions between OV and 1V on the scule of a voltmeter. The least

count of the voltmeter is -

(A) 05V (B) 0.05V

(C) 0005V (D) 0.0005V
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8. B ) iR Ry wr PrevRm § 7 @ &7

(A) 107A (By 10°A
(C) 10°A (D) 10°A
Which one of the following is ane micro ampere of electric current?
(A) 10°A (B) 10°A
(€©) 10°A (D) 10°A
9. R o3 gaw B aw g an Yant A Rm T ad &2
FA) TR yE A 2R 4 (B) = ga IR 4T
(C) Tm a2 ofted 3 (D) == ge A A g
What is the direction of magnetic field lines inside a bar magnet?
(A) from North to South pole (B) (from South pole ta North pole

(C) from North pole 1o Westem pole (D) from South pole to Western pole
10. =5 Re oftsy A gzt ar an = 2 2

(A) = (B =
O T (D) dien
In domestic electric circuit. the colour of neutral wire is -
(A) Red (By Green
(C) Black (D) Yellow

1. f&n gfda A forr gog Ry aRada 31 wrd o @72
(A) Rega afrs (B) Rgu e
(C) ARrfrar (D) T=feR
In which device, the split ring acts as commutator?
(A) Electric generator (B) Electnic motor
(C) Galvanometer (D) Vol meter

12, o= Rgu w3 ot ) gy s # Foefie &vm 2
(A) wém wort (B) =NFm wwt
(C) ¥R =t (D) Refrd ot
Which energy does a hydro electric power plant convert into electric energy?
(A) Thermal cnergy (B) Nuclear enerpy

(C) Solar energy (D) Potential encrgy
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13, 8 afdha e vina v o § ferm 82
.(A) RS iE]

(B) R
(€) R ww (D) T
In which State, Narors nuclcar power reactor is situated?
(A) Rajasthan (B) Maharashtra
(C) Unar Pradesh (D) Gujarat

14. ﬁtﬂfﬁm#%mmgmgmwc?

(A) CuO «(B) Ca(OH),
() Caco, (D) Ca
Which one of the following s slaked Jime?
(A) CaO «B) Ca(OH);
(C) CaCo, (D) Ca

15. Zn+CuSO, —» ZnS0,; +Cu
W & e st R ger o 82

(A) wUrAq sfem AB) Rremad sffha

(C) B smiFrm (D) R st

Zn + CuS0, = ZnS0, + Cu N

The above reaction is an cxample of a -

(A) Combination reaction (B) displacement reaction

(C) Double displacement reaction (D)  decomposition reaction
16. % fAagq A w13 o) @a T S ¢, g8 pH W & -

dA) 5 (B) 7
(C) 8 (D) 10
A solution tums bluc litmus paper red: its pil is likely to be. -
(A) 5 B 7
{C) 38 (D) 10
17. sifatfde v & wghes w=a Bl 4 ot 82
(A) T o (B) TR
() (D) g
Which one of the following is the natural source of Oxalic acid?
(A) Orange (B) Tomato
(C) Vinegar (D) Tamarind
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18. Prefafm ¥ o4 wed sfe SR o 87

JAA) Mg (B) Ca
(€) Na D) K
Which of the following is the most reactive metal?
(A) Mg (B) Ca
(C) Na D K

19. Y Rm (v o) Bw o § A TESeRE v (4 @i TERE I B
aArat B gren &2

(A) 3:2 (By 2:3

© 3:1 (1 1:3

In what ratio, the concentrated Hydrochloric acid and the concentrated Nitric acid
solutions arc present in freshly prepared aqua regia (royal water) solution -

(A) 3:2 B) 2:3
) 3:1 D) 1:3
,oH

20. _i\o o e wag Pfsffan 3 7= 29

(A) @4 (B) adfeafae ==
(C) Y=nieid (D) Ucserzs

paL
Which one of the following is the functional group of —(i\ ?
(A) Ketone (B} Carboxylic acid 2
(C) Alcohol (D) Aldchyde

21, gt # nfPaw E C 1y 2, gadl -

(A) 7 UE FWET My 2| (B) 8 W& {UIE e R
(C) 9 UE wnws ey & ,(D) 10 FF TWASTS AT & |
Propanc, with the molecular formula C, Hs has -
(A) 7 covalent bonds (B) 8 covalent bonds
(C) 9 covalent bonds (D) 10 covalent bonds
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- !"Wm*w%dmm«m.mm)-
(A) Tam ¢

; (B) wreen &)

(C) sRafita em ¢, (D) F A g 1A

In moving from left 1o right across the period of the modern periodic table, the stomic
size -

(A) increases (B) dccreases

(C) remains unchanged (D) none of these
3. IO e wR A P oud Tom &2

AA) 7 (R) o
(C) 15 . D) 11
How many ventical column (Groups) are in moder periodic table?
(A) 7 R 9
() 1§ (M 18

4. wmmm&hm'Manﬁmtajmﬁde
FU = amm & o Prafafee 3 #%= o & REame
(A) A& (B) wa

(C) AR (” &

L
A student adds a few drops of univeral indicator 1o a dilute solution of sodium
bicarbonate taken in a test tube, which of the following colours would be observed?

(A) Blue (B) Green
(C) Orange (D) Yellow
5. W4 TR Gl @) FErm G & @ 3G s A oEnh 2
(A) Gt (By e
JO andien Horan (D) @@
When Magnesium ribbon is ignited. the Mame produced by it is -
(A) Yellow (B) Bluc
(C) Dazzling white (D) Red
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2 W AR
- _m'm L 7(
%wmmq%nﬂmawm‘mmnsﬁ'; -
| ntmwm&mq;wmaﬁuﬁaﬂwﬂ“““"m“a

(A) ZnSO, By CuSO,

1C) FeSO, (D) AL (SO

' [ an hour, it was
An iron mail was dipped in solution kept in a test tube. Aller lmll‘ .
- - ‘ u
observed tha colour of the yolution his changed. The solution in test tube

(A) Znso, (B) CuSO,
() FeSOg (1)) Al;cS().),.
27, Prerfyfaga

ﬂm&a%ﬂmmﬁmwmamanin:mm@’

(A) &Qadey (B 2aMer

JO) - taee M M & oxd a6

Which one of the following instruments ix Used for measuring Blood Pressure?
(A} Rarometer

(B) Manometer

(D1 none of ese
28. mmnqaummcau?qﬂmnra'&mi T G e 4AMIR UFF
@2
A) &3 wm R (RB.C) B) v q Trraq (W.BC)
) Q2 azy JD) whm
What COmponent of Blood Prevents beeding by cluy formation i pPoints of injury?
(é.\) Red Bloog cells . (B) White Blood cell
€) Plateiers ©) Lympp
29, mn\"mmnm‘am& ™ & srqvrs, &
(A) Wy (B) W}ﬂ
€ wreirey
D) g3 3
What is the 'eknmumr!he:hmd Ia e
(A) Sodium ' u) S Eland 1o ingy . thyroxine hormones
' Chlorin
(&) Phosphyrys :
. D) Nong of these
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30. Ma.anmmumﬁﬂmam
(A) 3n7 uftae

.((‘-) ST,

T B wm T &
(B) =7 3Raww

(D) 3 & TR

What pan of the brain maintaing postare ond e¢quihbrium of the body?
(A) Fore - Brauin (B) Mid - Brian

(C) Cercbellum (D) Allof these

31. 9=’y gniy WFMHP wews § -

(A) W02 & s @) sond A gfy @ farg
(B) a3 & 913 @ Ry

(C) Waw @ gy A R 43 @ g
D) 578 A )

Plant hormone *Cytokinins' is helpful for -
(A growth of shoot tip in length

(B) growth of stem

(Cy bending the plunt towards light

(D) All of these

32, TIS A 9GS @ AR PefaRig @ 3t 87

(A) &= iy (B) dam s
{C) T (L) Ras

Which one of the following is the mude of reproduction in ] lydra?
(A) Vegetative propagation (B) Spore formation
(Cr» Budding (D) Fission

33, MW @ F /O WP A 87

(A) TTuTH (B) vad
«(C) ydae (D) FANdWR

Which part of a fluwer produces pollen grains?

(A) Sepals (B} Petals

(C) Stamens (D) Carpels
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(A) 3z (B) mivm
 NO) gEfem (D Ra afEh
Which of the following is ot a part of the female reproductive system in human
being?
(A) Ovary (B) Ulerus
(€} Vas deferens (D} Oviduet
35. aumia Prmt @ wlaare Ry fuar?
(A) =ied iy (B) e g
€) & A im (D) 2R Wl s
Who propounded the laws of Inheritance?
(A) Chacles Darwin (3) Robent Hooke
(C) J.C.Bose (D) Gregor Johann Mendel
36. Raa 3 fEy TORA & g B R -
(A) XY AB) XX
r YY (D) g7
Women have a pair of Sex Chromosones «
(A) XY (B) XX
(C) YY (1)) All of these
37, He Ui @ R ¢ o W ATrET TR A GEY ) ) erele ) Yael Wi &
(A) W3 ) wlo = &7 (B) AR 1 wierd @ Ry

) s FEAFAY (D) 1) @ = 2 g
A preen leaf 15 boiled in Alcohel before using Iodine for starch test in order to -

(A) dissolve starch (B) disselve chlorophyll

(") soften the leaf ' (1) Allof the above
38. WSS T AIWYH UGS HIGPRET 1 Sl Wliar § —

(A} Sx W (B) 10x W

i) x W (D) 45x W

The slide is first focussed under Compound Micruscope at -

(\) 5x (B) 10x

(C) 25x (D) 45x
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9. = :
U\:‘ﬁ:‘w:m ® %2 g RUL R BTN
(C)  vary J4B) R
-(!:: g::’n:‘:::ecn WO nevron, i callc.:[:.. o
(C) Axon (B) Synapse
A0, B4 a8 S g o frvsior ma:l?? Sl

: (B) i, 4 R s
(€} T, w4 wn g

3 (D) S 42 @t wud)
Which of the following constitutes u Food chain®

(A) Grass, wheut and mango (B) Grass, goat and humun
(€) Goat. Cow and elephant (D) Grass. Goat and fish

B -3 / SECTION -1
ive Iy

e mes/ PHYSICS
qY-gada uv1/ Short Answer Tyvpe Question
5w/ Instructions: Marks:40
T¥ W&y 1 @ 6 aw &g ovhy wva £ gl A 3 vre gyl # wav 34

There are short answer (ype questions form gquestion no, I to 6. Give answer any four
guestions oul of six short answer type questions.

. S4TE B wrada @ Fradl 7 e afit g3 e ae @ anid @)
Write laws of Reflection of Light and illustrate it with a Ruy diugrum.
2. gdfeu vd (i & TR E TR T adi @ 82 @)

Why does the Sun uppear Reddish early in the nwoming and in the evening?
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& a3 A &9 16 50} SRS,

I R Brga wRvg 71 aaen e @i e 2V @
. . P ‘ '
Whﬁﬁ‘ﬁlwwzqw, ,mmm:\man@mmﬂmﬂmﬁ (2)
4 z ; of 2V
Druaw a schemunic diagram of a circuit copsisung of 4 battery of three cells o
J .n
cach. & 5K tesistor, an B resistor. a 1262 resistor and a plug key, all connected §
seres, -
, 5 @
1. Rge Qe aa N sl @ are yand GG uig F A TR frd g
e gy @ @)
. a
Why ase coils of Elvctric Toasters and Electric lron made of an alloy rather than
fure mictal?
S, QOTHT w oo fraw [ @
Wiste the Flemang's right haid rule.
6. P TH @ ol cEE @)y o i E TR 8 . @
Why are we loohing at aleernate sources of energy”?
2 g2 T/ Leng Anwwer Type guestion -
7. (o rroE kR w89 (2+2+2=8)

What 1s clectne power?
(b) P @i H=IRt
A¢l B, (5 gies (R) R Bege wa (D10 ¢ 558 & 9= 990 @ 4 31

Denive M = IRy, where H. is the amount of Heat produced by steady current (1)
through a resistor (R) in time .

{c) 6V 428 A nued A e Ua e 3w @ Rl S & e @2
How much energy is given to cach Coulomb of charge passing through a 6V
battery?

@ / OR
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(1)  wem
, T A ¥ F WEG &7
What do You mean by

scattening of Light?

Wha i SPcctmm of Liglu?

€} M3 fRyaw g TR €0 g yore 3 - 41 rn of)

Explain the dispersion of White light passing through a Glass Prsm.

YW@ U1/ CHEMISTRY
UTART WA/ Short Answer Type Question

Rim/ Instructions: .

W7 aear 8 W 13 @ TGI8 wed & g A B me wrdt @7 o 2

There are short answer type questions form question No. & to 13, Give answer any four

questions out of six questions,

10.

aratreor ST A W om wEE & (@ a0 I T (2)
What do you mcan by a Precipitation Reaction? Explain it by giving an example.

A A TRy F IRA W o F=hE T 7A &2 @)
Why wids do not show acidic hehaviour in the sbsence of Water?

¥ sl @ R wwm falle -

() Mm@ Yy A @)

(i) W B PR
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.

12.

13

14

Wirite equations for the reactions of -

@) Iron with Steam

(M Culciunm with Water

B=1 A ) aram fafag g -

) =8y (1) WENEE W
Draw the structure for the following compounds —
(1} Chloropropune (i) Propionic ucid
Rl a1 gamtPe g e

n Ca Gy Cr

Write electronic vonfiguration of the fullowing clements.

(i) Ca ) Cr
() am g & S AN 41 @17 A 72 A &

What happens when mictals are burnt in air?
(i) AW R W4 Al ud @ e dafdu exd &7

What happen when metals react with water?

()  wEOEg Aoh e &2 FTIEI T THESIEY |

What is a homologous senies” Explain with an example,

@)

@)

(1+1=2)

@+3=5)

(by widR ATH @ A TEEDE e o e s IR ¢ &g 3G

i)

Write three Chemical propertics of Carbon compounds with suitable Chemical

reactions.
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@  wamfa.
o q’ﬁw'ﬂ¢mmweu@nqdwzg&i#ﬂnwm| (2+3=5)
\Herentiate berween metal and noi-metal on the basis of their chemical
Properties.
(b)

f2 .

3 “‘"‘.Pﬂdﬁﬁ»mhamaﬂmﬂn Q e Wl |
W Zn i) e i Ca (iv) Mg (vi K (vi) Na
Amange the metals given in the order of their decreasing reactivity.

MW Zn G Fe iy ca v Mg 0 K i) Na

WaRsm/ BIOLOGY  BiharPaper.com
T9-0RY w¥1/ Short Answer Type Question

Rda/ Instructions:

7FE

77 15 ¥ 20 O TY-ThT mea & gt & REY ur wEt a1 9w 3
There are short answer I¥pe questions form question No. 15 to 20. Give answer any four
questiosn out of six short answer iype quesiions.

15, 399 W spded Fie a0 wfeg @ arge) @
Draw o labelled diagram of the longiludinal section of a MNower.
16. ara s 37 fFw o 82 @)

How does the Nervous tissue act?
17, w&mw urdy™ T & 50 et ufFwm ) am ad) (@)

What is Pholosynthesis? Express it in Chemical equation,
18. Starzq am &7 Wa fewmd oo & (o & A @ waenan £7 @)

What ure Fossils? What do they tell us about the provess of evolution?
19. gRaF 3 uurshn & 73 fw &2 @)

What is the role of decomposers in the Fcosysiem?

BiharPaper.com
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What changes can you make in your habits (o become environment — friendly?

we a
2L T W T3 Bt v e A 0@ o - W g B @ 6 (s)
Draw a labelled diagram of human digestive system and explain the digestion process
of Food,
v/ OR

Draw the structure of a neuron’ and cxp.lain ils function.
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